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Exponential Laws Logarithm Laws
x? - x? =y log(ab) = log(a) + log(b)
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Algebra 2
Log & Exp - Notes Day 1

Solve each equation.

1) log (9—m)=log 6

3) log 5 (3a - 7) =log,, 2a

5) log, 7+log, -4x=2

7) logy 3x+1og, 6 =log, 23

9) 4211 — 4—2?1

Name

ID: 1

Date

Period

2) log 4n=1og n

4) log (4x + 6) =1log (-2x +3)

6) log, (x+4)+log, 9=2

8) log, x— log, (x+4)=4

10) 3™ =81




Property of Logs (sp. 2015).notebook

ONe -+ - one P(i]ﬂr'\"(

1)\;5(9-m]=‘m\5 \-I

- - a\

q- >4Un:n 5 ’qf ]

- - N n e

m:=3 L~ Y

3)\(@\(35: ~7) hog, ~2a 8) D (dx +6)=og (21 +3)

26-- U v b~ ~dx+3
Se-7 -0 Ux 33 X
Sa~ 7 37 -6
I T ¥

January 12, 2015

Jan 12-8:37 AM



Property of Logs (sp. 2015).notebook January 12, 2015

Los ?rcpr—\;, Yo Expand log(ab) = log(a) + log(b)
|°3 ab - '03 P +'0J b
o log 5x = leg=riea™

® Joi’xj= I"j""'"?i‘l

@ |oj 5&7 = ldj's i—lojK -\"cxjy

:‘9 (c)j k) = loj R+ \ij (""'2)

_kq,vl.\,.,l-'.f...

\Oﬁ'S(\@‘Z) - f‘j@**'g)
= mosh §3cu\/ Ahis WY
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'Pca‘mty of log +o Gondenca | 102(ab) =log(a) +log(b)

o log € v leyx = 3 "

= |03 (x-b %)

2) lo:) % +laj‘o + |03“l
- |03 24 %

Q) lo:) x+3) + Io:)(x-z) = Iog(ws)(x-ﬂ
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Expand log [%) = log(a) —log(b)|
-—i— = '03 3 - laj be

IO3§'= )aj 2 - leg S

| 2 + | <
IOj&"' < 03 oj 3 \o«jzf|oﬁx—’afj5+|°37

‘57 IOJ g + \oj\/

log(ab) = log(a) + log(b)

log (%J = log(a) —log(b)
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Condense each expression to a single logarithm.

log, 2

11) Slog, 3 +

log,7 log,2 log.3
+ +

13
) 3 3 3

Expand each logarithm.

15) log, (z\fx-y)

2
17) log, (14)

12) 4log, 5 —16log, 12

14) Slog, u—3log, v

4
16) log, (ié)

g 3
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Condense each expression to a single logarithm.

log, 2

11) Slog, 3 +

log, (3° \,E)

log,7 log,2 log.3
+ +

13
) 3 3 3

log 5 \/42

Expand each logarithm.

15) log, (Z\fx-y)

logg x loggy
+
2 2

log z+

2
17) log, (%)

v

2log, u—8log, v

12) 4log, 5 —16log, 12

54

16
12

log,

14) Slog, u—3log, v
5

u
log, S
v

4
16) log, (ié)
y

4log, x—24log ., y

g 3

3log 8 —6log, 11
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Algebra 2

Solve each equation.
1) log (9 - m)z log 6
3]

3) log 5 (3a - 7) =log,, 2a

No solution.

5) log, 7+log, -4x=2
[-4]
7]

7) logy 3x+1og, 6 =log, 23

Log & Exp - Notes Day 1

Name

ID: 1

Date

Period

2) log 4n=1og n

No solution.

4) log (4x + 6) =1log (-2x +3)

i
-
il
L.}

b | =

6) log, (x+4)+log, 9=2

(U

8) log, x— log, (x+4)=4

No solution.

10) 3™ =81
4|

10



Property of Logs (sp. 2015).notebook

January 12, 2015

1) log (9 - m] =log 6

3) log (3a—-7) =log 13 —2a

2) log4n=1log n

4) log (4x +6) =log (—2x+3)
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L°3 ?(Cp.d"\}, Yo Expand log(ab) = log(a) + log(b)

I(,f> ob : IOSG—I— ‘ajb
l 5x =\0 ‘5"‘ IO X
o loq N J

® ,of} *y = Iojx F logj

@ loj 5><7 - IaJS 4+ le x. \07\J
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6) IOj (X‘—W(x ) =
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P ap_u".l.y of [03 to G ndence log(ab) = log(a) +log(b)

o l03 € + '03 > = 103 B> = \Ojgx

2) 'Oj X+ '03 b + |03"’I = lﬁxe“/ /fj;?q’(

Q) loj (x+3) + |c>j(\'2) - /03 (Y'*})(X'a)
/ao()‘z"x’ b)
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Excpand 10g[§]=log(a)—log(b)-
3 103 - log x
2 _ — len 5

l03 5 - fdj’ 2 j

lo &—: lo 2x—l075\/
Sy j e <
log(ab) = log(a) + log(b) ‘ 032 * I oj X dj 7

log[%]:log(a)—log(h) \on N loj x - ( \oj Sf \oj "J)

\Oj4 . g~ .uj')+\aj7
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Condense - (%] = log(a) —log(h)

O log5- log 2 = 103<§g)
- lo s o (%
> )ojBX j"l 9
152-3.;’5_.3
® \0324"633*“07x—lo-)5]+ (C’jj
l032-3'><%5- 9
(D) |
le 23§ j

fo (o\<7l
5
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Condense the log log(@’)=b-log(a)

— < f
® (Plogx = 193>

@@ o S

< 0 (xF2)

@ loj% - \Oj’s
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Expand the log log(d”) = b-log(a)
O g - (DB

(et 1)
@ log M = (xt1) log 1

€ \03 L{*(ﬂrg) - |oj“|+ \Oj x(n-%)

- \Oj 4+ (V\-S>]°J X
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=)
« BB THREY 3

2
1.873151246
logil2a 109050
1.5439592311
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Why??27?

1
log X ( a ]
b o

log 1=0
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Using the properties of Log to solve
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